

見本

KUMON

	月		日	(始)		時		分	(終)		時		分	
----------------------	---	----------------------	---	-----	----------------------	---	----------------------	---	-----	----------------------	---	----------------------	---	----------------------

たし算
ひき算

名前

① 計算しましょう。

$6 + 5 =$

$8 + 5 =$

$5 + 7 =$

$9 + 6 =$

$6 + 8 =$

$7 + 8 =$

$4 + 9 =$

$8 + 9 =$

$7 + 6 =$

$12 + 4 =$

$5 + 8 =$

$15 + 3 =$

$6 + 9 =$

$17 + 2 =$

見本

② 計算しましょう。

$5 + 5 =$

$9 - 4 =$

$4 + 7 =$

$10 - 3 =$

$7 + 9 =$

$11 - 2 =$

$9 + 3 =$

$12 - 5 =$

$6 + 8 =$

$13 - 6 =$

$9 + 6 =$

$14 - 9 =$

$8 + 9 =$

$15 - 7 =$

$5 + 8 =$

$16 - 8 =$

$9 + 9 =$

$17 - 8 =$

見本

KUMON

	月		日	始		時		分	終		時		分	
----------------------	---	----------------------	---	---	----------------------	---	----------------------	---	---	----------------------	---	----------------------	---	----------------------

たし算
ひき算

名前

① 計算しましょう。

$6 + 3 =$

$8 - 6 =$

$8 + 7 =$

$9 - 2 =$

$3 + 5 =$

$10 - 5 =$

$9 + 8 =$

$11 - 9 =$

$5 + 4 =$

$15 - 8 =$

$7 + 9 =$

$13 - 4 =$

$4 + 6 =$

$17 - 9 =$

$10 + 1 =$

$17 - 1 =$

見本

② 計算しましょう。

$$\begin{array}{r} 30 \\ + 10 \\ \hline \end{array}$$

$$\begin{array}{r} 20 \\ - 10 \\ \hline \end{array}$$

$$\begin{array}{r} 27 \\ + 43 \\ \hline \end{array}$$

$$\begin{array}{r} 46 \\ - 43 \\ \hline \end{array}$$

$$\begin{array}{r} 35 \\ + 21 \\ \hline \end{array}$$

$$\begin{array}{r} 81 \\ - 29 \\ \hline \end{array}$$

$$\begin{array}{r} 18 \\ + 65 \\ \hline \end{array}$$

$$\begin{array}{r} 65 \\ - 38 \\ \hline \end{array}$$

$$\begin{array}{r} 45 \\ + 47 \\ \hline \end{array}$$

$$\begin{array}{r} 93 \\ - 57 \\ \hline \end{array}$$

見本

KUMON

	月		日	始		時		分	終		時		分	
----------------------	---	----------------------	---	---	----------------------	---	----------------------	---	---	----------------------	---	----------------------	---	----------------------

かけ算

名前

① 計算しましょう。

$6 \times 2 =$

$7 \times 2 =$

$6 \times 4 =$

$7 \times 4 =$

$6 \times 5 =$

$7 \times 5 =$

$6 \times 3 =$

$7 \times 3 =$

$6 \times 8 =$

$7 \times 8 =$

$6 \times 6 =$

$7 \times 6 =$

$6 \times 9 =$

$7 \times 9 =$

$6 \times 7 =$

$7 \times 7 =$

見本

② 計算しましょう。

$8 \times 1 =$

$9 \times 1 =$

$8 \times 2 =$

$9 \times 2 =$

$8 \times 3 =$

$9 \times 3 =$

$8 \times 4 =$

$9 \times 4 =$

$8 \times 5 =$

$9 \times 5 =$

$8 \times 6 =$

$9 \times 6 =$

$8 \times 7 =$

$9 \times 7 =$

$8 \times 8 =$

$9 \times 8 =$

$8 \times 9 =$

$9 \times 9 =$

$8 \times 10 =$

$9 \times 10 =$